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6. Two sNOng 3cids:  HCI(3q) € H2SOq

_TwO weak acidst  HCO%(ag) ¢ HzPOq

. S’WOng acids. Cbmplﬁf;uﬁt dissociate
into H*La@ and _Hneir aniory, wnile.
Weak ackde paxrially dissocizadt.. B
50, in a weak acdd soluf o, you wil
’/Yj/igd mostly e Intact weak acid

€ s 2nd some H*Laa@ and its

1O.. Mhaﬁiaw ah bhydride is aﬁho;m -meTa)
__oXide  while a basic anhydride 1s
2a_meral OXidc.

12, Mg oK), 15 nearky insoluble i Waker,
) W\ml{y NaoH 15 cpmp\acw SOl W
WAy .

*_f‘ffi*OI lmjmroxw\o lonn, OH~ o

20. 2. Lithium hydroxide  LiOH
0. Sulfurous acid, Ha 80z or (H0)2SO

__ C. pnobpheric acid, HaPO4 oc  (HO)PO
R d _calawnm, h}[dmx\dc Ca (OH)& -




Wit 19 (tontinued ) @

O 4 (bontinued)

2 M9(OM) 2y magnesiwm hydroxide, (base)

. NH7%, amrmoiza,(pase)

O M, nydrogen swfide, (acd)

A M@O&l‘*\w@ — M9 (l 693 . (kose)

s meral oxide + He D — ase

. %a. LO@Z.L@\ + W0 = Ha (07 Caé@
remumir i onon-ineral oxide + HeO 2 acid
44 LioH(Rq)) + BNO%(24) —7 LiNDp(aq) + H0

4o, ]\mem(a@ 7 KOH(a@ = K%Oor(a@ + 250

assume & 1 s -
W&Am‘i’ er-\’O Hr /

4D, W (agy + caQovM%\—q casmu + 24,0
| "60 I\mo \)V\/\C(/ *" PH ’2 , |
B2, [H*]=10X10~9 Y pH=-loglHJ=10

B4 (H¥l=loxwo™ |
0. pH = Il (14~ a} Qo\ POH= 2 (0.01m Naoﬂ
S PH 12 (\4 2)



